


This ladybird has one spot.

What is double one?

1 + 1 = 2

How many spots does the 
ladybird have now?



This ladybird has two spots.

What is double two?

2 + 2 = 4

How many spots does the 
ladybird have now?



This ladybird has three spots.

What is double three?

3 + 3 = 6

How many spots does the 
ladybird have now?



This ladybird has four spots.

What is double four?

4 + 4 = 8

How many spots does the 
ladybird have now?



This ladybird has five spots.

What is double five?

5 + 5 = 10

How many spots does the 
ladybird have now?



This ladybird has six spots.

What is double six?

6 + 6 = 12

How many spots does the 
ladybird have now?



This ladybird has seven spots.

What is double seven?

7 + 7 = 14

How many spots does the 
ladybird have now?



This ladybird has eight spots.

What is double eight?

8 + 8 = 16

How many spots does the 
ladybird have now?



This ladybird has nine spots.

What is double nine?

9 + 9 = 18

How many spots does the 
ladybird have now?



This ladybird has ten spots.

What is double ten?

How many spots does the 
ladybird have now?

10 + 10 = 20



This ladybird has eleven spots.

What is double eleven?

11 + 11 = 22

How many spots does the 
ladybird have now?



This ladybird has twelve spots.

What is double twelve?

12 + 12 = 24

How many spots does the 
ladybird have now?




